AP Human Geography

Unit Six: Urban Development

1. You are going to construct your own brewery and you have found the perfect location for it. You have acquired land along a railroad in a grain belt city. A factory next to your land manufactures bottles and there is a label-maker only a short distance away. Your location will share the benefits of
a. conglomeration

b. accessibility

c. mergers

d. concentration

e. agglomeration

2. The theory that explains the regional organization of urban areas, based on their functions and the goods and services they offer, is called

a. metropolitan area theory

b. sector theory

c. central place theory

d. urban matrix theory

e. the rank-size rule

3. The range of a good is

a. the number of people required to make its provision economically feasible
b. the average profit margin required to make production economically feasible
c. the average maximum distance people are willing to travel to purchase it
d. the average minimum distance people are willing to travel to purchase it
e. its position in the urban-economic hierarchy
4. Which of the following would have the greatest threshold?
a. Pet store

b. Gas station

c. Law office

d. Chiropractic office

e. University

5. World cities are those that have become known as global cities are the control centers of the global
a. airline network

b. popular culture

c. financial network

d. military-industrial complex

e. political network

6. The U.S. Bureau of Statistics defines a central county or counties with at least one urbanized area of 50,000 more, plus adjacent outlying counties with a large number of residents that commute in as a 
a. census tract

b. metropolitan statistical area

c. micropolitan statistical area

d. megalopolis

e. mercantile city

7. Which of the following was NOT an area where early civilizations and the first cities began?

a. Thames River area (Britain)

b. Niles River Valley (Egypt)

c. Tigris and Euphrates River Valley (Mesopotamia)

d. Indus River Valley (South Asia)

e. Yangzi and Yellow (Huang) River Valleys (East Asia)

8. All of the following statements accurately describe a change brought about by the urbanization of ancient agricultural societies EXCEPT

a. Urbanization increased job specialization of the early societies.

b. Urbanization created a need for expanded government structures and functions.

c. Urbanization was often accompanied by increased trade with other societies.

d. Cities often became religious and educational centers.

e. Urbanization decreased the amount of social inequality in the early societies.

9. Which of the following was among the largest cities in the world around the end of the first millennium (1000 C.E.)?

a. Baghdad

b. London

c. New York

d. Rome

e. Paris

10. Which of the following was MOST directly responsible for the acceleration of urbanization in the 1800s in Europe and North America?

a. drought conditions in Eastern Europe that stimulated westward migration

b. the colonization of the Western Hemisphere

c. the Protestant Reformation

d. the Industrial Revolution

e. increasing competitiveness of China in world trade

11. The basic sector activities of a city’s economy include production of goods and services for

a. resident of the city itself

b. areas outside the city

c. the poorest people in the city

d. basic needs, such as housing and food

e. people and businesses in the central business district only

12. As you travel from center city to the outskirts of the city, the cost of land-rents (bid-rents) usually
a. goes up

b. stays the same

c. goes down

d. fluctuates according to regional factors

e. goes up if the topography if flat, but goes down if the topography around the city is hilly

13. Which of the following characteristic do the concentric zone and sector models of urban land use have in common?

a. Both show that the poorest residents live on the city’s outskirts.

b. Both show heavy manufacturing located near the city’s center.

c. Both show that the wealthiest residents live on the city’s outskirts.

d. Both show that middle-class residents live mid-way between the city’s center and the city’s outskirts.

e. Both show only one central business district (CBD).

14. Which of the following is a correct statement about the major cities of the world?
a. Most are located on rivers or seacoasts.

b. Most are found in areas that are not very suitable for agriculture.

c. Most primate cities are located in the United States and western Europe.

d. They are concentrated between the tropic of Cancer and the tropic of Capricorn.

e. The world’s fastest-growing cities are found in areas with the highest standards of living.

15. Most Latin American cities are focused on a 
a. central plaza

b. government housing project

c. zone of heavy industry

d. skyscraper office building

e. squatter settlement

16. Today, most of the United States and Canadian population lives in which of the following?

a. Farming areas

b. Rural nonfarming areas

c. Central cities

d. Metropolitan areas

e. Small towns

17. The multiple-nuclei model of city structure tends to be most applicable to 

a. small cities

b. traditional cities

c. Latin American cities

d. newer, fast-growing cities

e. cities with homogeneous land use

18. Which of the following was NOT one of the five original urban hearth regions?

a. France

b. Mesopotamia

c. Mexico

d. North China

e. The Indus Valley

19. The number of functions in a central place is dependent on all of the following EXCEPT the

a. population of the central place

b. population of the market area

c. size of the market area

d. distance to a place with similar functions

e. total number of central places in the urban system

20. Locational advantages important to the development of the earliest included

a. availability of good harbors for large ships

b. productive agricultural land and defensible sites

c. temperate climate and proximity to coal mines

d. good connections  by road and canal

e. proximity to manufacturing areas

21. Which of the following refers to the size and functional complexity of cities?

a. Multiplier effect

b. Urban hierarchy

c. Basic-nonbasic ratio

d. Threshold ratio

e. The Sector model

22. Historically, the growth of North American suburbs was most constrained by

a. high land values

b. zoning ordinances

c. limited transportation

d. housing shortages

e. cultural preferences

23. Which of the following is a true statement about classic models of city structure?

a. The concentric zone model does not have a transitional area.

b. The sector model is highly influenced by transportation patterns.
c. The central business district has the most dominant position in the multiple nuclei model.

d. The multiple nuclei model and the sector model are similar in that they both have only one core.

e. The interaction between the central city and the suburbs is greatest in the urban realm model.

24. Which of the following groups of cities contains the best examples of central places with large hinterlands?
a. San Diego, Milwaukee, and New Haven

b. Atlanta, Denver, and Calgary

c. Baltimore, Ottawa, and Duluth

d. Las Vegas, Victoria, and Buffalo

e. Miami, Philadelphia, and Quebec City

25. In the United States and Canada, which areal unit best approximates a city neighborhood in size?
a. A census tract

b. A county

c. A municipality

d. A congressional district

e. A metropolitan area

26. Today, the greatest number of urban dwellers is found in

a. North America

b. South America

c. Africa

d. Europe

e. Asia

27. Which of the following is an example of an edge city?

a. Anchorage, Alaska

b. Seattle, Washington

c. Boston, Massachusetts

d. Tyson’s Corner, Virginia

e. Las Vegas, Nevada

28. Which models of urban land use illustrate that large cities develop by spreading from several nodes of growth, each with its own special function?
I. Burgess’ concentric zone theory

II. Hoyt’s sector theory

III. Harris and Ullman’s multiple nuclei theory

a.   I only
b. I and II only

c. II and III only

d. III only

e. I, II, and III 

29. A social area analysis is MOST likely to focus on
a. the rank size of adjacent cities 

b. transportation lines that connect cities

c. base ratios of employment

d. urban groupings by social class, race, and ethnicity

e. the amount of influence that the central business district (CBD) exerts on outlying areas

30. Activities that support a city’s basic economic activities are collectively referred to as the 

a. infrastructure

b. nonbasic sector

c. periphery

d. secondary sector

e. tertiary sector

31. City zoning ordinances are most often criticized for
a. making commutes in an out of the city more difficult

b. reinforcing class, racial, and ethnic lines

c. increasing taxes that city residents pay

d. allowing mixed land usages within the same area

e. blocking the smooth flow of traffic from one area of the city to another

32. One major difference between land use in European and U.S. cities is that

a. European cities usually have more dispersed populations than U.S. cities.

b. European cities are less likely to have large urban parks than U.S. cities.

c. European cities are less likely to have ring roads than U.S. cities.

d. European suburbs are less likely to have high crime rates than U.S. suburbs.

e. Wealthy Europeans are more likely than wealthy Americans to live close to center cities.

33. Which of the following is most likely to have a large religious building and a market bazaar at its center?

a. a traditional city in Northern Africa

b. a post-colonial city in SubSaharan Africa

c. a colonial-based city in Southeast Asia

d. a modern city on the west coast of the United States

e. a manufacturing city in Western Europe

34. Which city’s dense urban core became the “birthplace of the skyscraper”?
a. New York

b. Tokyo

c. Sao Paolo

d. Paris

e. Chicago

35. By 2020, most of the world’s biggest cities will be located in

a. Western Europe

b. Russia

c. South America

d. Asia

e. Africa

36. Primate cities are those that 

a. are the seats of ecclesiastical power in a nation

b. are the national capitals

c. are disproportionately larger than other cities in a nation

d. were the first to be established in a new colony

e. are inhabited monkeys and apes

37. During the 1980’s and 1990’s, Santa Monica, California, became significantly wealthier and more expensive.  This process is referred to as

a. escalation

b. gentrification

c. urban zonation

d. reallotment

e. reification

38. Which of the following qualifies as a primate city?

a. Toronto, Canada

b. Cape Town, South Africa

c. Jerusalem, Israel

d. Mexico City, Mexico

e. Phoenix, Arizona

39. Which of the following is not correct regarding the great metropolises of the developing world?
a. They contain both great wealth and tremendous poverty.

b. Many retain architectural elements of their colonial past.

c. Most have squatter settlements on their outskirts.

d. Because their economies are less developed, they rarely suffer from significant pollution.

e. They house an increasing proportion of the world’s population.

40. Which of the following economic activities is most likely to be found in a city's central business district (CBD)?
a. an automobile dealership

b. a transfer point for railroad freight cars

c. an office tower

d. a metal fabricating plant

e. the production facility of a major textbook publisher

41. The term Urban Realm came into use to describe the spatial components of a metropolis of what decade?
a. 1940’s

b. 1990’s

c. 1920’s

d. 1930’s

e. 1960’s

42. A market area is an example of

a. formal region

b. perceived region

c. functional region

d. mental region

e. hierarchical region

43. The high cost of a downtown location now outweighs the advantages of locating near other like industries. Publishing companies have begun to move from New York to as far away as Florida and Texas. The process referred to is:
a. deglomeration

b. commercialization

c. gentrification

d. ghettoization

e. agglomeration

44. Which of the following will draw from the greatest range?
a. Kroger

b. Walgreen’s

c. Racetrac

d. Maggiano’s 

e. McDonald’s

45. An example of a city that has or had functional specialization is:
a. Detroit, Michigan

b. Pittsburgh, Pennsylvania

c. Duluth, Minnesota

d. Jared’s woodcarving town in Germany

e. All of the above

